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13 = R4 F X EN.E 2 3 1480 RAT AR
14 = R4 F X FRFH 2 1190 RATIERAR
15 BT A X B 3 1461 AR R
16 B ETH KX 78 % 1 460 RATIRR
17 B A K AR 1 610 RATAAR
18 R AR ITEE 3 1900 R PR
19 R AR [ 1 560 R PR
0 BT A X ERS 1 610 KA R AR
21 R AR WA 3 1541 R PR
22 ZRE FTHK T 5% 1 590 RATEAR
23 Y A K E TR 1 560 AAT KR
24 EEx ETHK THZ 1 700 R PR
25 = R F X S 4 2600 RAT AR
26 R AR I xR 2 1020 KA PR
77 B A K FEEE 2 900 RATIAAR
o8 BT S A K A 1 500 RA R R
59 EET S A K B 1 450 A& R
20 B A X kA 2 1120 RAT AR
31 By AR ik 1 633 R PR
37 EET S A X ®EE 1 455 RA R R
33 B A H X THA 1 360 RAR R
34 R AR E 1 560 R PR
35 B A X T I & 1 460 RA R R
36 = R4 2 A X Z b 3 1100 RATIRR
37 EET S A K e 2 1040 RA R R
38 L AKX BE 2 800 AR R
39 EEE F A K R 1 604 RATER
40 R FAHK e 4 2100 RATIEAR
41 R AR Az 2 810 R PR
47 R AKX FREF 2 800 RAT IR
13 B A K 2 2 1160 RATIEAR
v BT A X Tk H 1 550 AR R
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46 R AR FTE 1 510 R PR
47 ZRHE 7 A X CR=PN 2 1240 RATE R
48 R AKX EXS 2 1260 RATEAR
49 R AR PSS 1 540 R PR
0 B S A X R 1 495 RAT AR
1 EET T X B A 2 1000 RATE R
52 = R4 F X EKRK 1 633 RAT IR
53 EET FT AKX HEL 1 480 AR AR
54 R AR THAE 2 900 R PR
55 = R F X EX ¥ 1 560 RAT AR
56 = R4 2 A X P 3 1817 RATIERAR
57 EET FMAK EER 1 835 I IR AR
53 B AT H K 200 F 1 510 RAT AR
59 =74 MK FFA 1 460 RAT IR
50 B A X BN 2 1020 RA R R
61 EET F R T4% 1 540 R PR
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63 ZRE 7 A X EX- %2 1 560 RATE AR
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65 B A X BT 1 475 AR R
56 EET F R IEL 2 1000 R PR
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72 CRA A K ERE 2 1076 ARATRAR
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77 R Rk A R 2 1000 RAT RS
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82 By PR A R e 1 560 RAT RS
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90 By PR A ZF 2 400 RAT RS
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97 EEY Rk A HHEP 1 660 RATIRAR
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119 ZRHE B i A ¥ L& 2 960 KA R AR
120 - R B i AT R oo 2 920 KA K AR
121 ZRHE B i A WA 1 530 RAT R AR
122 ZRE B i A EX 1 480 RAT R
123 - R B i AT GEY 1 550 KA R AR
124 ZRHE B Ji AT 7K 1 500 KA R AR
125 - R B i AT A 1 450 KA R AR
126 ZRHE B i A I A 2 1080 FAT R AR
127 ZRE B i A EZ S 1 510 RAT R
128 ZRHE B i A A M 2 1200 FA R
129 ZRHE B i A e 1 608 AR
130 - R B i AT I/ 2 1090 KA R AR
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132 ZRE B i A NS 1 500 RAT R
133 ZRHE B i A 1% 2% 1 485 FA R AR
134 ZRHE B i A H A B 3 1541 RAT R R
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161 - R 78 A FEY 1 490 KA R AR
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172 - R 5 A DR 1 575 KA R AR
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174 - R 75 At Z kA 1 410 KA R AR
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178 =R = RAKX Ly = 1 535 KA R AR
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188 = R = BA X 2 KT 2 1260 KA R AR
189 - R ZRHAKX T 1 400 KA R AR
190 R4 ZRHAKX T %= 2 1110 KRR
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195 R4 ZRHAKX ET 3 1 560 KRR
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204 - R ZRHAKX [ 1 600 KA R AR
205 “RHE = BA X i 2 1160 KA AR
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209 ZRHE = BA KX e 1 640 FAT K AR
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211 R4 ZRHAKX 24 & 2 1140 FORH &
212 Z R = RAKX 2 1 500 KA R AR
213 - R = RAKX T B H 1 440 KA K AR
214 R4 ZRHAKX E - 1 500 FORH &
215 R = BAKX W% 7 1 530 KA R AR
216 R4 ZRHAK E s 1 570 KRR
217 =R = RAKX E = 1 300 KA R AR
218 - R = RHR e 1 540 KA R AR
219 - R = RAKX e cRiis 1 580 FAT R AR
220 - R = RAKX b 1 580 KA R AR
221 R4 ZRHAKX 7K BB 1 440 KA R AR
202 = R = BA X B 2 940 KA R AR
223 - R ZRHAKX HHh o 1 545 KA R AR
224 Z R ZRHMRK FBIEE 3 2365 I TR AR
225 R = BA KX 7k 2 4 1 600 KA R AR
226 - R = RAKX s 1 435 KA R AR
207 =R = RAKX ZRE 2 1140 KA R AR
228 R4 ZHEHAK %k B it 1 600 RATK A
229 - R = RAKX A& 1 475 FAT R AR
230 ZRE = BAKX LR 2 860 KA R AR
231 “RHE = BA KX 4 1 535 KA AR
232 = R = BA KX ET A 2 860 KA R AR
233 —RHE ZRHAK K5 1 580 BT R
234 SR ZRHMRK ER 1 400 R AR AR
235 - R = RAKX ok 1 640 KA R AR
236 R4 ZRHAK T HK 1 400 FORH &
237 =R = RAKX 2 1 400 KA R AR
238 - R ZRHAKX KEE 1 500 KA R AR
239 R4 ZRHAKX F 6 1 600 KRR
240 - R = RAKX K= 1 475 I R AR
241 ZRH ZRHMRK NS 1 835 I TR AR
242 = R = BA X 2 3L 3 2 920 KA R AR
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244 R4 ZRHAKX I 1 580 KRR
245 R = BAKX B 1 660 KA R AR
246 “RHE =B %k % 1 650 B R
247 Z R = RAKX i 3 1480 KA R AR
248 - R ZRHAKX B 2 2 640 KA R AR
249 R4 ZRHAKX [ BES 3 1481 KRR
250 —RHE = BAKX T RE 3 1640 AR R
251 R4 ZRHAK FoE 2 1280 KRR
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274 - R = RAKX " E N 1 685 I R AR
275 “RHE = BA KX 2K 1 440 KA AR
276 Z R = RAKX ¥ 1 550 KA R AR
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279 ZRE ZRHAK W 75 3t 1 440 KRR
280 ZRHE = BA KX 7k 77 1 600 KA R AR
281 =R = RAKX 2 R 1 700 KA R AR
282 R4 ZHEHAK K E=an 1 480 RATK A
283 ZRHE = BAKX W& % 2 976 FAT R AR
284 ZRE W At ExEa 1 600 KA R AR
285 - R W F AT it & 1 640 KA R AR
286 = R W At S 2 1140 KA R AR
287 - R W F AT oL 3 1620 KA R AR
288 ZRHE W AT o 2 800 KA R AR
289 R4 W, At ko 2 1260 KRR
290 - R W At KR 1 510 KA R AR
291 =R W F AT FH K 4 1500 KA R AR
292 - R W, AT 2+ 2 540 KA R AR
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294 - R W F AT A 1 650 KA R AR
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296 = R W At x| 77 K 1 460 KA R AR
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317 ZRA W F A R A 1 440 KA IR AR
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319 ZRE 0 & A ZH2 2 700 RATIRAR
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323 CRE W A A 1 540 RATIRAR
324 R4 W& A H 4 2428 RAHE AR
325 L W AT oy 2 1160 KA £k
326 ZRE W& A REE 2 1160 A1 1R
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328 BT 0 A B e 1 640 AT (AR
329 ZRE W A Fob 1 505 RATIRAR
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331 ZRH W A X 1 500 KA R
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333 BT 0 A ITEF 1 360 A AT EAR
334 ZRE W A A 1 500 AATIRAR
335 L W AT EH K 3 1510 KA £k
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337 ZRE W E A EAE 2 700 RATIRAR
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339 ZRE W A 7 1 340 AATIRAR
340 B UL E A EEC 1 460 RAT AR
341 ZRH W A Fot 1 360 KA R
342 ZRE 0 & A e 1 540 RATIRAR
343 ZRH LA X 1 600 AATIRAR
344 ZRE LA EX 1 540 RATE R
345 ZRH E AT FEE 1 500 KA PR
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347 By b At EES 2 1100 RAE R
348 ZRE e % W H; 2 1040 AATIRAR
349 ZRE LAY 4 1 490 RATE R
350 BT LA % i 12 1 610 AR
351 B E A P 1 550 R PR
352 ZRE LA H 3 1931 RAE R
353 By E WA K AE 1 600 AR PR
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355 By E WA Pe 8% 1 500 KA PR
356 ZRH E LA e %I 2 1140 KA PR
357 By E AT Fe R 3 1720 R PR
358 By EA EEES 1 520 R PR
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360 ZRE LA & A& 1 510 RATE R
361 ZRH LA RpZ 1 550 AATIRAR
362 Z A F A FEES 1 495 A AR
363 R ¥ AT K X% 1 580 KA PR
364 ZRE b At RS 2 1050 RATE R
365 By A AR 2 880 RAE R
366 B E A Y E 1 550 R PR
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372 - R AT &k # 1 535 KA R AR
373 ZRHE AL AT H & 2 920 FA R
374 ZRHE AT k=% 1 545 KA AR
375 - R AT AL 1 470 KA R AR
376 ZRHE LAY FER 2 1140 FA R AR
377 =R AT W E 2 1150 KA R AR
378 ZRHE AL AT R 1 600 FA R
379 ZRHE AT (ESS 3 1535 KA R AR
380 ZRHE AL AT Rt ok 1 480 R R R
381 - R AT JE 1 570 KA R AR
382 ZRE AL AT 2 2 840 AR AR
383 ZRHE AL AT E N0 1 530 FA R
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385 R Iy % At 3% 1 600 KA R AR
386 ZRHE % At REX 1 500 AR AR
387 ZRE I At REH 4 1848 RAT R
388 - R o At F 0 & 2 1150 FA R
389 = R I At REH 4 2160 FAT R AR
390 - R Iy % At R ¥ 2 1060 KA R AR
391 - R Iy % At & £ 3 2 1000 FAT R AR
392 B o A s R 2 830 KRR
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394 = R I At BEER 2 1080 AR
395 B I At ] 2 1170 I AR
396 Z R Iy % At 7 EL 1 570 KA R AR
397 - R Iy 9 At X 2 1176 KA R AR
398 - R o At 7k A 1 460 FA R
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400 R Iy % At kA F 1 555 KA R AR
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